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20<y <25

25 <y < 3.0
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48+10+£01=+04
1794+20+03 £ 1.3
255 £23+£04+19
229 +£22+£03 1.7
23.6 £22+£03 1.7
19.6 2.0+ 03 £ 14
214+£21+04+16
13.7+1.6 £ 03 £ 1.0
1424+ 1.6 £0.6 £ 1.1
8.7+13+03+0.6
9.6 £1.3+05+0.7
81+12+0.1%0.6
6.3 £1.0x£0.1%0.5
10.0 £ 1.3 £0.2 £ 0.7
40+08=+01=+03

55+£08=+01+04
1824+14+02+13
173 +£13+£01=+13
262+17+£02+19
180 +14+£01=+13
218 £15£02+16
189+14+02=+14
161 £ 1.3 +02£1.2
125 +£11+£02+09
104 £1.0+0.2=£0.8
74+£09+03+£05
59+£08+£02+04
53+07+01+04
46 £07£02=x03
22+05+01+02

47+£07£01x03
173 +14+01+£13
21.3+15£01+16
228 +£1.6 £0.1 £ 1.7
199 +£15+£01+15
184+144+01+14
198 £15+£02=%1.5
120 +12+02 £ 0.9
93+£10+01+07
108 £1.1 £0.1 £0.8
6.8+ 08+0.1%0.5
40+£07+£01%03
3.0£06+0.0%£02
3.7+06+01+0.3
35+£06=+01%03

35<y<4.0
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33£08+£0.0%0.2
1914+19+02=+14
200+£19£02%+15
186 +£1.8+0.1£14
185 +£18+01+14
11.0£14+01=£08
93+£13+01%£07
81+12+£0.1%06
80+12+£01%06
79+11+01=%0.6
36+£08+0.0=+03
51+09+£01+04
45+£09+£01+03
0.7£03+0.0%0.1

10<y<4s

6.3+£20+01+05
53+ 17+£01+04
1.0+ 0.7+ 0.0 £0.1
73+19+£01%£05
3.0+£1.2+£0.0%£02




